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Answers Practice and Problem-Solving

Exercises
Lesson Check M.y=-2x+575 -1
I.y:2x;12 Z.b:a;m 12. y = —2x + 4;8,2; -2 .
13. i T
5.40yd 14.
6. literal equation 7. literal equation - 1.
8. both 9. both . &
10. Answers may vary. Sample: They are 16 e
the same in each case since you are 5
17. 35
isolating a variable by using inverse 2
operations. They are different because, 18, y = ,Lj; 43.31. 1%
in an equation in one variable, to isolate P
the variable, inverse operations are used 19+ X = + 7
on numbers only. In a literal equation, 21.x = ths
inverse operations are used on variables s-¢
as well as numbers. 23
A-C
25. x =g

27.x=2y -4 28.35m
29.45in 30. 16 ft
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31.7cm

32.75yd
33.04h

34. h = an; 87 hits
35.h

36, x =204
37.x-%+a
38,y - =214
39.h=3%

"
40.g-22—f
M4.a=2b—x
42, 9 sides

43, —108.4°F




